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FOREWORD

The National Examinations Council of Tanzania is pleased to issue the Candidates' Items
Response Analysis Report (CIRA) of the Advanced Certificate of Secondary Education
Examination (ACSEE) 2017 in 153 Accountancy subject, in order to provide feedback to
students, teachers, parents, policy makers and the public in general on the performance of
the candidates.

The Advanced Certificate of Secondary Education Examination (ACSEE) marks the end
of two years of advanced secondary education. It is a summative evaluation which among
other things shows the effectiveness of the educational system in general and educational
delivery system in particular. Essentially, the candidates’ responses to the examination
questions is a strong indicator of what the educational system was able or unable to offer
to the candidates in their two years of advanced secondary education.

This report analyses some of the factors that contributed towards the performance of the
candidates in Accountancy subject. Factors that made most of the candidates perform well
include; adequate knowledge on the subject matter, ability to identify demands of the
questions and clear explanations to the concepts. The poor performance of some of the
candidates was due to misinterpretations of the questions, insufficient knowledge on the
subject matter, poor organization of ideas and poor mastery of English language. The
feedback provided will enable the educational stakeholders to take appropriate measures
to improve candidates’ performance in future examinations conducted by the Council.

The National Examinations Council of Tanzania will highly appreciate remarks, opinions
and recommendations from all stakeholders which will facilitate better preparation of
Candidates' Items Response Analysis Reports in future.

Finally, the Council would like to thank the Examiners and all those who participated in

the preparation of this report.
A

Dr. Charles E. Msonde
EXECUTIVE SECRETARY



1.0

INTRODUCTION

This report analyses the performance of the candidates who sat for the
Accountancy subject for the Advanced Certificate of Secondary Education
Examination (ACSEE) in May 2017. The Accountancy examination was
set in accordance to the 2011 Examinations format, which was developed
from the 2009 syllabus.

The examination comprised of two papers, 153/1 Accountancy 1 and 153/2
Accountancy 2. Both papers consisted of seven (7) questions which were
divided into sections, A and B. The candidates were required to answer any
five (5) questions in each paper by choosing three (3) questions from
section A and two (2) questions from section B. Each question carried
twenty marks.

A total of 1530 candidates sat for Accountancy examination. The results
show that 92.42 percent passed the examination with the following grades:
grade A 0.52 percent; grade B 5.88 percent; grade C 17.71 percent, grade D
30.52 percent, grade E 29.48 percent, grade S 8.30 percent and 7.58 Percent
failed by obtaining grade F.

The Accountancy examination results for two consecutive years show that,
in the year 2017, the results have decreased by 0.49 percent compared to
the year 2016. See the table below:

sn | Year | Number of | Passed | Percentage | Failed | Percentage
the

candidates
sat for
examination

1 |2016 | 1,429 1,323 92.91 101 7.09

2 | 2017 | 1,530 1,414 | 92.42 116 7.58

The report will be useful to teachers, candidates and other stakeholders in
the process of improving teaching and learning of Accountancy subject.
The presentation examines the requirement of each question and the way
the candidates responded. It highlights the strengths and weaknesses
observed in the candidates’ responses. Selected extracts of candidates’
responses are included to enable stakeholders experience the reality of




2.0

2.1

candidates’ responses to the questions. The analysis of candidates’
performance on individual questions is presented in the next sections.

ANALYSIS OF PERFORMANCE OF THE CANDIDATES IN EACH
QUESTION

The performance in each question is rated as poor, average or good if the
percentage of the candidates who scored 35 percent or above of 20 marks in
the range of 0 - 34, 35 - 59 or 60 - 100 respectively. Special colors have
been used, whereby green stands for good, yellow for average and red for
poor performance as seen in the graphs and appendices.

PAPER 1: 153/1 ACCOUNTANCY 1

2.1.1 Question 1: The Nature and Context of Accounting
The question had two parts; (a) and (b). In part (a), the candidates
were required to give the meaning of the term accounting cycle
while in part (b) they were required to describe six chronological
steps in the accounting cycle. The question intended to measure the
candidates’ comprehension ability and knowledge on the concept of
accounting cycle.

The question was attempted by 35.4 percent of the candidates. The
candidates’ performance in this question was poor since the
percentage of candidates who scored 0 to 6.5 marks (66.9 %) was
higher than the percentage of candidates who scored 7 to 19.5
marks.(33.1 %).

Candidates who performed poorly in this question (66.9%), lacked
adequate knowledge on the steps in accounting cycle. Most of them
described functions of accounting instead of steps in the accounting
cycle. These candidates failed to distinguish the roles of accounting
from the steps in the accounting cycle and others lacked mastery of
the English Language and thus failed to provide clear explanation of
their points. Extract: 1.1 shows an example of a poor response from
a candidate.
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In Extract 1.1, the candidate gave a wrong definition of the term
"Accounting Cycle", listed unrelated words “journalize and

postage” and three functions of accounting (classifying,
analysing and interpreting).
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Some of the candidates with average performance in this question
(18.9%) were able to define the term "Accounting Cycle" but failed
to describe some steps of accounting cycle in chronological order.
Most of them wrongly mentioned source documents as a step in
accounting cycle. However, source documents are printed forms on
the basis of which business transactions are recorded in the books of
accounts. These candidates lacked adequate knowledge of
distinguishing source documents from the steps in the accounting
cycle.

Candidates who had good performance in this question (14.2%)
managed to define the given term and described the six
chronological steps. They were able to provide appropriate and clear
explanations on journalizing as the first step in the accounting cycle.
For example, one of the candidates described journalizing as the act
of recording financial data from source documents such as sales
invoice and receipts into the journal. Other candidates also provided
clear explanations on posting, preparation of trial balance,
preparation of adjusting entries, preparation of financial statements
and preparation of closing entries as steps in the accounting cycle. A
sample of a good response is illustrated in Extract 1.2.

Extract 1.2
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Extract 1.2 shows one of the candidates’ correct responses to the
guestion. The candidate managed to define the accounting cycle
and was able to describe the chronological steps in accounting
cycle.

2.1.2 Question 2: Correction of Accounting Errors

The question had parts (a) and (b). In part (a), the candidates were
required to state with examples, six types of errors which cannot be
revealed by the trial balance. In part (b) they were required to use
the given information to prepare necessary journal entries to correct
errors, suspense account and income statement to show adjusted net
profit.

The question was attempted by 87.4 percent of the candidates. The
performance of the candidates in this question was good since the
total percentage of candidates who scored good and average marks
was higher than the percentage of candidates who scored low marks
as indicated in Figure 1.
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Figure 1: Candidates' Performance in Question 2.

The candidates who scored good marks in part (a), had adequate
knowledge on accounting errors which do not affect the agreement
of trial balance. They also had good ability to express themselves in
English language. They were able to state clearly the types of errors
which cannot be revealed by the trial balance and gave relevant
examples of each.

In part (b), the candidates were able to make correct entries in the
journal, post them to the suspense account and performed the
necessary adjustments to the reported net profit. Extract 2.1 is an
example of a good response from a candidate.



Extract 2.1
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Extract 2.1 shows responses from a candidate who had adequate
knowledge on the correction of Accounting Errors. The
candidate accurately prepared the Journal entries, Suspense
Account and the Income Statement.

The candidates who scored moderately in this question (36.3%),
some were able to explain the types of errors which cannot be
revealed by the trial balance, however, they failed to give some
examples. Others managed to list types of errors, but failed to
explain them. They also managed to open the Journal, Suspense
Account and the Income Statement but made some incorrect entries
and postings to the Suspense Account and the Income Statement.

The candidates who performed poorly (20.9%), failed to identify the
errors which do not affect the agreement of Trial Balance and were
not able to open the Suspense Account and the Income Statement.
Few of them opened the journal but failed to make correct entries.
Some entered incorrect amounts, while others entered wrong
narrations. An example of incorrect responses is presented in
Extract 2.2.



2.1.3

Extract 2.2.
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Extract 2.2 shows one of the incorrect responses from a
candidate who opened the journal and suspense account but
entered only one correct entry in the journal and suspense

account,

the rest of the entries are not correct.

Question 3: Depreciation and Disposal of Non- Current Assets
and Recognition of Revenue and Expenses

The question had two parts, (a) and (b). In part (a), the candidates
were required to prepare Accumulated Provision for Depreciation,
Machine, Machine Disposal Accounts and Balance Sheet extract. In
part (b), they were required to prepare rent, rates and insurance in a
combined account and indicate clearly the charge to be made to the
income statement.

The question was attempted by 94.0 percent of all candidates. The
analysis shows that, the candidates' performance in this question
was good as 71.8 percent scored from 12 to 20 marks, 20.7 percent
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scored 7 to 11.5 marks and 7.5 percent scored from 0 to 6.5 out of
20 allotted marks. Figure 2 shows a summary of the distribution of
the candidates’ scores.

100
90
80
70
60
50
40
30
20
10

0

Percentage of Candidates

1 20.7
1 7.5
0-6.5 7-11.5 12 -20
Scores

Figure 2: Candidates' Performance in Question 3.

The candidates who scored good marks in this question were able to
prepare the Accumulated Provision for Depreciation, Machine,
Machine Disposal Accounts and the Balance Sheet extract. Also
they were able to make correct entries into the accounts, balance off
the accounts and prepared the balance sheet extract as required in
part (). In part (b), they managed to; prepare the combined rent,
rates and insurance account, make correct computations and entries
in the account and indicate clearly the charge to be made to the
Income Statement. Extract 3. 1 shows a sample of the good
responses from a candidate.
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Extract 3. 1

24

o MACKINE  &Ccount 2

aaltleeq Tash (&) aneawy, l

oalo\aweq (ash (@) |beero . 21|12 |as2q Eolanwe % 420,500

& Re,ovv Hae,sv

‘\\\ ER AN @a\qnw b{& L(‘Q,o{ooo

al2lasto (S<lance Yo 4290

__:;f.lﬁ'v“lﬂ.) L‘Qc’a‘vu

!\1\'5\*“‘ (.;v\‘qnw’ ‘D/J qQO;éuu
(falasy (ah () sy b gfie)acn) Balene 9 S140
S74ovo =1qov
Meeie Bejanw ¥ 574900 | goleafaoz Db peo=t 25w

Qp)\a\:mn {lonwe Fo 3200

ST¢RU

l\w\nolz ‘2-‘1\0«"“\7 ) LU B

DEPRECIATIAY  ciarT

C‘-ﬂ’ ReDq I Qo ady 2612 O‘SVVML

A af2ewe | 630D | n72c0  3my2z {493¢ [enbR

R jbsvo | jofw {29318 napza. 2ni4q |, ~

I R C L) - - i 192Y0 | 33byg _

RETES gLb2Y | g42iq | 75T

..

7o AcsrmdFod oy Fo dopoachion @
aliz]ans Rulanw¥e 12500 slialawg  Peft and oy 1350 |
afialaeie  Qalanwe?E (Bo12Y filasia Ruluanwe iz 35
2112 @0 \)rs’k(f -w\cP\uu QL(:QS'J
Jbu (¢ {boln¢ |
Ql{h\anu Qa\c.nwvdi au43g4 | )1 )ae @a\’\h‘f b/& [boi2Y
Silt'),’:mi\ \)ﬂyﬁf e,m;vla:s g4e\q
QA4 344Y 4434
2"‘%‘"’*“"’- Dupmh o2 (hlasie  Rdane e a4y
alinlaeiz Bal anw?y 1S4493 ‘3\\\11&0 (3 Prﬂ‘({d‘ ond ldaqgl‘

Q@“\/ 1 nnopy

T 0fRein Galonwe Y 1<ud9a

12



Qe | o MAacHINE  0updal  accomed e
azleglanz (Nednirng n({zuvo;. 3T|a [aviz Lcccmunlabn @
i o (1 oo (’w«O\lelnc:hmf%bZ‘
1
| Tk F7 |
! L asa 93¢ l
ggquuoj A o)
: By -
Lgc\(anoo,r'lnov?'f as o 817 pee
gty
Qoam Mo dhies Ggris Vo
Lo ; prisnien v opo i, 73w TR
e VA adnwe Yo, v
Lass< 2 prevision [ u(v,v\me.‘hw. 1oy A ¢asy
f
[Ny (\naa\p\n‘z T T
i P
Wnt Haanio f\,n.c,vjm‘kah‘.,, P44 Tyg 2R4bLBL
Qairz 'V\A om\n N "R N VD
\_M'_ ‘)(q_l\;\csa &’W g,(,g‘ywc\d"‘\ch [Y44¥an \ b7 voF
T
@"9 Y r R'EN'—(.‘ RATLY Apy |MNSWROWIL  ACCANT © oL
Uil2eod Bebance Y9 FDillama Bolonwe Y% KU
U Ka\es) bY9v ] { (CownT)
\'lnu..‘ r.)\} [~ SR "
" lr\(mv J‘srcﬁvmvn"r baep

)
(w’\n kﬂ.(ﬂ‘vs’) AU gD

i

( ‘a\j\ﬁ (Qer\*‘) Qyouv

(‘.‘.\jl,\ (1Nu.ar\uc' Yoo ? [3 ')l'\‘v_‘aﬂﬁ &q\o\‘nm’% |
b (l\nSu(xmr‘Q Sup |

[GATZ2 ) oo |
il

g€ guev |

A A ot
TV Re 1o (£ W
“ME\ h_\ur_znw\ Sco
Rewny [TRE))

In Extract 3.1, the candidate prepared the relevant
accounts, made correct computations and accurately
recorded the transactions into the accounts.

The candidates who performed moderately (scored 7 to 11.5) in part
(a), managed to open the relevant accounts and made correct entries
in Machine Account. However, they failed to compute accurately
some of the annual depreciation and made wrong postings into the
Accumulated Provision for Depreciation Account. Others failed to
prepare the Balance Sheet extract in its proper format. In part (b)
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they were able to prepare the rent, rates and insurance in a
combined account.

On the other hand, the candidates who performed poorly failed to
open the required accounts and made wrong computations of the
annual depreciation on the machines. This shows that, they had
inadequate knowledge and practical skills in the topic of
Depreciation and Disposal of Non-Current Assets. They also lacked
knowledge and competence on the topic of Recognition of Revenue
and Expenses as they opened separate rent, rates and insurance
accounts contrary to the requirement of the question. It was also
noted that most of them made inaccurate computations, wrong
entries into the accounts, while others failed to indicate clearly the
charge to the income statement. Extract 3.2 shows one of incorrect
responses.
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Extract 3.2
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In extract 3.2, the candidate prepared a table which is not relating
to the provision for Depreciation Account and entered only three
correct entries in machine account; the rest of the entries in the
Machine, Machine Disposal and Balance Sheet are not correct.

2.1.4 Question 4. Investment Accounts
In this question, the candidates were required to prepare a 6%
Government Stock Investment Account.

The question was attempted by 79.5 percent of the candidates.
Figure 3 shows the distribution of the candidates’ scores.
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Figure 3: Candidates' Performance in Question 4.

As indicated in figure 3, the performance in this question was good
as 54.9 percent of the candidates scored from 12 to 20 marks and
25.6 percent scored 7 to 11.5 marks. Only 19.5 percent scored 0 to
6.5 marks.

The candidates who scored good marks in this question (54.9%),
were able to draw the Investment Account clearly showing the
columns for recording the nominal, income and cost values of the
investments. They also managed to accurately compute the loss on
sale of investments, income from investments, nominal and cost
values of the Investments. Moreover, they were able to correctly
record transactions relating to the purchase, disposal and revenue
from investments into the account. Extract 4.1 shows a correct
response from a candidate.
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Extract 4.1
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Extract 4.1 shows a response from a candidate who opened the
Investment Account, made correct computations and recorded
the transactions accurately.

The analysis shows that most of the candidates who performed
moderately (25.6%) were able to open the Investment Account and
compute the income from investment. However some of them failed
to compute the Loss on Sale of Investments and Cost Values of the
Investments, while others were unable to apply the principles of
Double Entry in recording some of the transactions into the account.
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On the contrast, the candidates who performed poorly in this
question (19.5%), most of them lacked knowledge and were not
competent enough in the preparation of investment accounts. They
made inaccurate computations of the income, sales and cost values
of the investments. Furthermore, some of them failed to draw the
account properly and others entered wrong amounts in the wrong
columns of the account. Sample of a poor response is shown in

extract 4.2.
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Extract 4.2 shows incorrect responses from one of the
candidates. The candidate made inaccurate computations of
the cost values of the investment and entered wrong amounts
into the income and cost columns of the account.

2.1.5 Question 5: Preparation of Financial Statements
This question had two parts; (a) and (b). In part (a), the candidates
were required to prepare an Income Statement for the year ending
31" March 2010 while in part (b), they were required to prepare a
Statement of Financial Position as at 31% March, 2010.
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The question was attempted by 86.8 percent of the candidates. The
performance of the candidates in this question was good since the
percentage of candidates who scored 35percent or above (7 to 20
marks ) was 72.6 and very few (27.4% ) failed as indicated in figure
4,

12-20 3.9
3
57-115 68.7
)
v
0-6.3 274
0 10 20 30 40 50 60 70

Percentage of Candidates

Figure 4: Candidates' Performance in Question 5.

The analysis reveals that, the candidates with good performance in
this question (3.9%) were able to draw the Income statement in its
proper format as per International Accounting Standard 1. They
accurately computed the amount of revenue and expenses.
Furthermore, they were able to make proper classification of the
information; as Revenue, Cost of Sales, Gross Profit, Operating
Expenses and Net Profit. They also managed to present the elements
of Statement of Financial Position by making proper classification
of them as Non-Current Assets, Current Assets, Non-Current
Liabilities, Current Liabilities and Capital. Extract 5.1 is an example
of a good response from one of the candidates.
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In extract 5.1, the candidate prepared the Financial
Statements in accordance with the IAS 1.

The candidates who had average performance (68.7%) were able to
draw the Financial statements in their proper formats. The analysis
shows that, some of them failed to compute some of the amounts of
revenues, expenses, assets and liabilities, while others failed to
make proper classification of the elements in the Financial
Statements.

However, the candidates who performed poorly (27.4%), failed to
compute the amounts of most of the elements of Financial
Statements and to present the Financial Statements as per
requirement of the International Accounting Standard 1 (IAS 1).
Moreover, they were unable to make proper classification of
Revenue, Expenses, Assets, Liabilities and Capital in the Financial
Statements. Extract 5.2 presents a sample of a poor response from
one of the candidates.
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Extract 5.2 the candidate presented the Financial Statements in
a horizontal format contrary to the requirement of International
Accounting Standard 1 (IAS 1).

2.1.6 Question 6: Financial Statements Analysis and Interpretation

The question comprised of parts (@) and (b). In part (a), the
candidates were required to compute working capital, quick, rate of
stock turn, net profit to capital employed as percentage, debtors
collection period in months, net profit as percentage of sales, return
on total assets, expenses as percentage of sales, creditors payment
period in days and gross profit to sales ratios. All answers were to
be given in two decimal places. In part (b), the candidates were
required to calculate gearing ratio for C Ltd and X Ltd and give
comments to the ordinary share investors of each company.

The question was attempted by 74.4 percent of the candidates out of
which 46.3 percent scored 7 to 18 marks and 53.7 percent of them
scored 0 to 6.5 marks. This indicates that, the candidates'
performance in this question was average.

The candidates who performed poorly in this question (53.7%) had
various weaknesses. Some failed to identify appropriate formulas
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useful

in the computation of accounting ratios, some were able to

identify the formulas but failed to extract the relevant data from the

Financ
formul

ial Statements while others applied wrong data in wrong
as. Moreover, other candidates confused the formulas for

different accounting ratios and made inaccurate computations of the
required accounting ratios. While some provided inappropriate
comments, others did not provide the comments to the ordinary share
investors in C Ltd and X Ltd. Extract 6.1 shows an incorrect
response.
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In extract 6.1 the candidate was only able to identify one correct
formula for working capital ratio, the rest of the formulas and the
computed accounting ratios are incorrect.
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The analysis also shows that, the candidates who had an average
performance in this question (37.9%) managed to identify the
formulas used in the computation of accounting ratios, but they
failed to extract the required data from the Financial Statements
which led to the computation of incorrect ratios. Furthermore, their
comments to the ordinary share investors in the two companies were
not appropriate.

On the other hand, the candidates who had good performance in this
question (8.4%), had adequate knowledge and computational skills
as they managed to compute the required accounting ratios and
provided appropriate comments to the ordinary share investors in C
and X Ltd respectively. Extract 6.2 shows a response from a
candidate who calculated the ratios and provided appropriate
comments to the ordinary share investors in the two companies.
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In extract 6.2, the candidate computed the required accounting
ratios accurately and provided reasonable comments to the
ordinary investors in the two companies.
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2.1.7 Question 7: Branch Accounts
This question had two parts; (a) and (b). In part (a), the candidates
were required to open Kigwe Branch Current Account, Goods sent
to Kigwe Branch Account, and Bank Account in the head office
records. In part (b), they were required to prepare Head Office
Current Account, Bank Account, Premises Account, Motor Van
Account, and Purchases Account in the branch records.

The question was attempted by 34.1 percent of the candidates. The
performance in this question was good as the total percentage of
candidates (61.1%) who scored 7 to 20 marks is higher than the
percentage of candidates (38.9%) who scored 0 to 6.5 marks. Figure
6 shows the details of the candidates’ performance.

Scores

m0-6.5
a7-11.5

m12-20

Figure 6: The candidates' Performance in Question 7.

The candidates who scored from 12 to 20 marks in this question
(30.5%), were able to open the required accounts, made correct
entries into the relevant accounts and balanced off the accounts
properly. Extract 7.1 presents one of the good responses.
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Extract 7.1
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Extract 7.1 shows a candidate who opened the required
accounts, made correct entries and balanced off the accounts

properly.
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The candidates who performed moderately in this question (30.6%),
were able to open the relevant accounts but most of them made

wrong

entries in some of the accounts and others failed to balance

off the accounts. On the other hand, the candidates who performed
poorly (38.9%), some were able to identify some of the required
accounts but most of the entries into the accounts were not correct.
Others failed to balance off the accounts properly. Extract 7.2

shows an incorrect response from a candidate.
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In extract 7.2, the candidate made incorrect entries in Kigwe
Branch Current, Goods sent to Kigwe Branch and Bank
Accounts.
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2.2

PAPER 2: 153/2 ACCOUNTANCY 2

2.2.1 Question 1: Partnership Accounts

The question had parts (a) and (b). In part (a), the candidates were
required to briefly explain four essential characteristics of
Partnership. In part (b), they were required to describe the term
Partnership Deed.

The question was attempted by 77.2 percent of the candidates out of
which 69.1 percent scored 7 to 16 marks and only 30.9 percent of
the candidates scored 0 to 6.5 marks. This indicates that, the
candidates' performance in this question was good.

The candidates who scored good marks in this question (6.3%)
comprehended well on the concepts of Partnership and Partnership
Deed. They were able to provide reasonable explanations on the
essential characteristics of Partnership such as; mutual agency,
contribution of capital, profit or loss sharing and combination of
talents. Also, they were able to describe the term Partnership Deed,
as a written document containing the provisions of the partnership
agreement made by the partners. However, no candidate in this
category scored all the twenty marks in this question due to limited
ability of the candidates to express themselves in English Language.
Extract 8.1 is an example of a good response from a candidate.
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Extract 8.1 presents the candidate's response who provided a
clear explanation on the essential characteristics of
Partnership and described well the term Partnership Deed.

On the other hand, the candidates who scored moderately in this
question (62.8%), managed to provide proper description of the
given term and identified some of the essential characteristics of
Partnership. However, because of poor mastery of English
Language and inadequate knowledge, their explanations on the
essential characteristics of Partnership were inappropriate.

The candidates who scored low marks (30.9%), lacked knowledge
and comprehension skills on the topic of Partnership. Their
explanations on the essential characteristics of Partnership were
incorrect and lacked clarity. It was revealed that, some of them
provided no description while others were unable to express

35



themselves in English language. Extract 8.2 shows an example of
incorrect response from a candidate.

Extract 8.2
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In extract 8.2 the candidate failed to identify the essential
characteristics of Partnership, instead he/she provided unrelated
explanations and did not describe the term Partnership Deed.
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2.2.2  Question 2: Partnership Accounts
In this question, the candidates were required to prepare Journal
Entries, Partners’ Capital Accounts and Statement of Financial
Position on the assumption that the new values have not to be
recorded in the books.

The question was attempted by 82.1 percent of the candidates. The
performance in this question was poor since 72.5% of the
candidates scored low (0 - 6.5) marks as shown in figure 7.

2.6%

Scores

m0-6.5
o7-11.5

m12-20

Figure 7: The candidates' Performance in Question 2.

The candidates who performed poorly in this question (72.5%),
most of them failed to adhere to the requirements of the question as
they omitted some of the required accounts. Moreover, others
opened some of the required accounts but their entries contained
either wrong amounts or incorrect narrations. Others made wrong
entries in the journal and posted some of the entries to the wrong
sides of the Ledger Accounts. Also, it was noted that, most of the
values of the assets, liabilities and capital presented in the Statement
of Financial Position by some candidates were not correct. Extract
9.1 presents one of incorrect responses from a candidate.
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Extract 9.1
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In extract 9.1 the candidate entered wrong amounts in the
Journal, Goodwill and Revaluation accounts, only three
entries in the Partner's Capital Accounts are correct and the
Values of Assets, Capital and Liabilities in the Statement of
Financial Position are not correct..

The candidates who scored moderately in this question (24.9%),
made some correct entries in the journal. However, most of their
entries in the Partners’ Capital Accounts were not correct, although
some of the Values of the Assets, Liabilities and Capital Accounts
in the Statement of Financial Position were correct.

On the other hand, the candidates who had good performance in this
question (2.6 %), managed to prepare the Journal Entries and were
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able to post the entries to the Partners’ Capital Accounts and
accurately prepared the Statement of Financial Position. Extract 9.2
is one of the correct responses.

Extract 9.2
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Extract 9.2 presents a sample of correct responses from a
candidate who managed to prepare the Journal Entries, post
the entries to Partners’ Capital Accounts and prepared the

Statement of Financial Position accurately.
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2.2.3 Question 3: Company Accounts and Payroll Accounts
The question had two parts; (a) and (b). In part (a), the candidates
were required to prepare necessary accounts for the redemption of
preference shares and a Statement of Financial Position as at 31%
December 2013 while in part (b) they were required to prepare
salary slips for Batuli and Majambo for the month of October 2013.

The question was opted by 83.4 percent of the candidates. Figure 8
presents the performance of the candidates in details.
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Figure 8: The candidates' Performance in Question 3.

The candidates who scored good marks (47.2%), were able to open
the necessary accounts for the redemption of preference shares,
made correct computation of the amount of the redeemable
preference share capital, made correct entries into the required
accounts and presented the Statement of Financial Position
accurately. Moreover, they accurately computed the basic salary,
overtime pay, gross salary, deductions from salaries and the net pay
for Batuli and Majambo. Finally, they prepared correct salary slips
for Batuli and Majambo respectively for the month of October
2013. Extract 10.1 shows a correct response from a candidate.
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In extract 10.1, the candidate accurately prepared the
necessary accounts for the redemption of preference shares,
Statement of Financial Position and the salary slips.

The candidates who performed moderately (35.4%), were able to
open the necessary accounts for redemption of preference shares and
made correct computations but some of the entries in the relevant
accounts and the Statement of Financial Position were not correct.
Also, some of the computation and entries in the salary slips were not
correct, hence could not score good marks.

On the other hand, the candidates who performed poorly in this
question (17.4%), most of them failed to adhere to the requirement of
the question. The analysis shows that, they did not open some of the
required accounts, while some of them made inaccurate computations,
others prepared tables which are not related to the salary slips. Extract
10.2 shows a candidate's incorrect response.
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Extract 10.2
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Extract 10.2 presents a sample of incorrect response of a
candidate who made inaccurate computations and the salary
slips presented contain incorrect figures.
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224

Question 4: Hire Purchase Accounts

In this question, the candidates were required to prepare Machine,
Vender, Interest Payable Accounts and a Statement of Financial
Position as at 31% December 2009, 2010 and 2011.

The question was attempted by 56.2 percent of the candidates. The
analysis shows that, most of the candidates scored good marks in
this question as shown in figure 9.

70 1
60 49.5
50 A
40 A 264

30 A

Percentage of Candidates
)
=

0-6.5 7-11.5
Scores

Figure 9: Candidates’ Performance in Question 4.

The candidates who scored 12 to 20 marks (49.5%) were able to
compute accurately the amount of total hire purchase interest,
provision for depreciation on machinery and hire purchase interest
payable per instalment. They opened and made correct entries in the
relevant accounts and prepared the Statement of Financial Position,
making proper presentation of assets, provision for depreciation on
machinery and liabilities at the end of the years 2009, 2010 and
2011. Extract.11.1 is a good response from one of the candidates.
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Extract.11.1
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In extract 11.1 the candidate prepared the required accounts
correctly and made proper presentation of the Statement of
Financial Position.

On the other hand, the candidates who performed moderately
(26.4%), made accurate computation of amounts of total HP
interest, HP interest payable, but most of them failed to open the
required accounts and others made incorrect entries in the relevant
accounts. Few of them managed to prepare the Statement of
Financial Position.

However, the candidates who performed poorly (24.1%), most of
them made wrong calculation of interest on hire purchase and
incorrect entries in the relevant accounts. The analysis revealed that,
most of the values of assets, liabilities and provision for
depreciation on machinery presented in the Statement of Financial
Position were not true. It was also noted that, other candidates failed
to adhere to the requirement of the question by omitting the
Statement of Financial Position. This shows that, they lacked
knowledge and computational skills related to the calculation of hire
purchase interest. One of the incorrect responses is presented in
Extract 11.2.
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Extract 11.2
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In extract 11.2 the candidate made incorrect entries in the
Machine, Vendor and Interest Payable Accounts.
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2.2.5 Question 5: Stock Valuation
This question had parts (a) and (b). In part (a), the candidates were
required to calculate the value of closing stock by using FIFO
method. In part (b), they were required to find the amount of sales
and purchases, write up a statement showing the value of closing
stock on 10" May 2013 and compute the amount to be
compensated by insurance company.

The question was attempted by 58.3 percent of the candidates. The
candidates had good performance in this question as 81.2% of them
scored high (7-20) marks. Figure 10 shows the performance in
detail.

Scores

HO0-6.5
o7-11.5

m12-20

Figure 10: The Candidates' Performance in Question 5.

The candidates who had good performance (41.5%), accurately
computed the Values of Purchases and Sales of Stock and made
correct entries in the stores ledger to determine the value of closing
stock using FIFO method. They were also able to use the Debtors
and Creditors Control Accounts to determine the correct amount of
sales and purchases. Similarly, they well prepared the statement to
show the value of closing stock and accurately computed the
amount to be compensated by the insurance company. One of the
correct responses is shown in Extract 12.1.
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Extract 12.1
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In extract 12.1 the candidate computed accurately the required

values and amounts.

The candidates who performed moderately in this question (39.7%),
were able to compute the accurate Values of Purchases and Sales of
Stock, but some of their entries in the Stores Ledger were not
correct and the Value of Closing Stock determined using FIFO
method was not correct. Similarly, some of the adjustments in the
Statement of Value of Closing Stock and the amount to be

52



compensated by the insurance company were not correct as they
were either lower or higher than the true values which were sh.
1,080,000 and 700,000 respectively.

The analysis shows that, most of the candidates who performed
poorly in this question (18.8%), failed to compute accurately the
Value of Purchases and Sales of Stock. Also, others did not prepare
the Stores Ledger, the Statement to show Closing Stock and the
computation of Amount to be Compensated by the Insurance
Company, while others entered inaccurate figures in the Stores
Ledger and as a result, the Value of Closing Stock determined using
FIFO method was not correct. This is an indication that the
candidates lacked adequate computational skills and competence in
the topic of Stock Valuation. One of the poor responses is presented
in Extract.12.2.

Extract 12.2

Sja) By FIFO Melbed.
Ui ?Lm:\rmec\r Uik sales oa 000 ~ 30 = 700

AOQO — 2200
— 300 -
Unit Prace " Amount
200 34 &0
1000 34 34000
200 A0 30000
3200 120,000

Ekos“mhoj' Stod, = 120,000/:

) o
b)be, DERTRes | fopTRoL Alg. R
Poa) P 9200 [Mrosiph from deblos 10,000
Sales 2,450,300 Blsmunt aloused 20,000
Ba) /4 1,300,000
2460, 2, 460,000

Extract 12.2: The candidate prepared a table of Unit, Price and
Amount instead of a Stores Ledger and only three entries in the
Debtors Control Account are correct.
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2.2.6 Question 6: Containers Accounts
In this question, the candidates were required to prepare Cases
Stock Account, Cases Trading Account, and Cases Income
Statement.

The question was attempted by 87.1 percent of the candidates. The
performance of the candidates in this question was good as the
percentage of the candidates who scored 7 -20 marks was higher
than those who scored O - 6.5 marks. Figure 11 presents the
candidates' performance in more details
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Figure 11: The candidates' Performance in Question 6.

The candidates who scored 12 to 20 marks (53.7%), were able to
apply the principles of Double Entry to record transactions relating
to the movement of containers in Chilindima Company Ltd. They
opened the required accounts, made accurate computation of hiring
profit and profit on retained cases. They also made correct entries in
the cases stock account, cases trading account and presented well
the cases Income Statement. This shows that, the candidates had
adequate knowledge and competence in the topic of Containers
Accounts. Extract 13.1 shows one of the good responses from a
candidate.
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Extract 13.1
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Extract 13.1 presents correct responses from a candidate who
correctly prepared the Cases Stock Account, Cases Trading

Account, and the Cases Income Statement.
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The candidates who had an average performance (31.6%), were able
to open the required accounts but failed to compute accurately the
Hiring Profit, Profit on Retained Cases, Depreciation on Cases and
some of their entries in the relevant accounts were not correct.
Also, the loss reported on the Cases Income Statement was not
correct as was either lower or higher than the true loss of sh. 89.000.

On the other hand, the candidates who performed poorly (14.7%),
did not adhere to the requirement of the question by omitting some
of the required accounts. Moreover, they entered wrong rates of
containers into the rate columns of the accounts, incorrect entries
into the amounts columns of the accounts and the loss reported on
the cases income statement was lower or higher of the actual loss of
sh. 89,000. This failure is due to lack of computational skills and
knowledge on the Principles of Double Entry System and
competence on the topic of Containers Accounts. Extract 13.2
shows an incorrect response from a candidate.

Extract 13.2
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In extract 13.2 the candidate entered inaccurate amounts in the
Cases Stock Account and Cases Income Statement except the
Values of Hiring Charge, Cost of Damaged Cases and
Depreciation.
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2.2.7 Question 7: Accounting For Royalties
In this question, the candidates were required to prepare Peter
Donkoa Account, Royalty Payable Account and Short Workings
Recoverable Account.

The question was attempted by 52.8 percent of the candidates. The
candidates' performance was poor; the details of which is presented
in figure 12.
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Figure 12: Candidates' Performance in Question 7.

The candidates who performed poorly (70.8%), failed to compute
accurately the amounts of short workings and irrecoupable short
workings. Some of them opened unrelated accounts and made
wrong entries in them, while others failed to identify the amount of
minimum rent and entered wrong figures. Others were unable to
open the Royalties Recoverable Account. Those who opened the
required accounts, made incorrect entries in them. These failures
indicate that, the candidates lacked knowledge, application and
computational skills in the topic of Accounting For Royalties.
Extract 14.1 shows one of the incorrect responses.
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Extract 14.1
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In extract 14.1 the candidate entered inaccurate amounts of
short workings and all the entries in the royalties payable

account are not correct.

The candidates who had an average performance (6.7%), managed
to calculate accurately the Values of Actual Royalties, Short
Workings, Short Workings Irrecoupable and Short Working payable
to landlord. They opened the required accounts but some of their
entries were not correct.

However, the candidates who scored good marks (22.5%), managed
to calculate accurately the Values of Actual Royalty, Short
Workings, Short Working Irrecoupable and Royalties actually
payable to landlord. They also made correct entries in the relevant
accounts as Extracts 14.2 shows.

58



Extracts 14.2
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Extract 14.2: The candidate opened the required accounts and
made correct entries.
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3.0

ANALYSIS OF CANDIDATES’ PERFORMANCE PER TOPIC

This section presents the analysis of the candidates' performance in various
topics. The performance is categorized as good, average or poor if the
percentage of the candidates who scored 35 percent or above lies in the
interval of (60 to 100%), (35 to 59%) or (0 to 34%) respectively. The
analysis shows that, the candidates had good performance in the topics of
Depreciation and Disposal of Non-current Assets and Recognition of
Revenue and Expenses, Containers Accounts, Company Accounts and
Payroll Accounting, Stock Valuation, Investment Accounts, Correction of
Accounting Errors, Hire Purchase Accounts, Preparation of Financial
Statements, Partnership Accounting and Branch Accounts. The reasons for
good performance on these topics is attributed to adequate knowledge and
computational skills of the candidates in the tested topics, ability of the
candidates to express themselves in English Language and proper
presentation of the Ledger Accounts and Financial Statements.

The analysis further shows that, the candidates had an average performance
in the topic of Financial Statements Analysis and Interpretation. The
average performance in this topic has been due to the candidates’ limitation
in analysis and evaluation skills and competences in the topic.

Further analysis shows that, candidates’ weak performance was on the
topics of Accounting for Royalties and the Nature and Context of
Accounting. The poor performance on these topics was caused by the
candidates’ misconception and misinterpretation of the requirements of the
questions, inability to apply the Principles of Double Entry in recording and
posting Financial Business Transactions into the relevant accounts, lack of
knowledge, comprehension and computational skills, incompetence on
some of the concepts in the topics and lack of English Language
proficiency.

The comparison of the candidates' performance in each topic for the year
2017 is presented in Appendix A while Appendix B shows the comparison
of performance in each topic tested across the years 2016 and 2017.
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4.0

5.0

CONCLUSION

The analysis of candidates’ performance in the Advanced Certificate of
Secondary Education Examination (ACSEE ) 2017 in Accountancy subject
indicates that, there is a decrease of 0.49 percent in the general performance
of the candidates from 92.91percent in the year 2016 to 92.42 percent in the
year 2017. However, further analysis indicates that, in the year 2017, there
has been a noticeable improvement in the candidates' performance in the
topics of Containers Accounts, Investment Accounts and Hire Purchase
Accounts compared with the performance of candidates in the same topics
in the year 2016. See Appendix B

RECOMMENDATIONS

In order to more improve the good performance of the candidates in
Accountancy subject in future examinations, the following are
recommended:

(@) Teachers should guide the students to identify different types of
accounting ratios using Library and Internet search.

(b) Teachers should demonstrate to students how to compute the relevant
accounting ratios.

(c) Teachers should guide the students to discuss on the interpretation of the
results of computed accounting ratios by using prepared questions

(d) Teachers should guide the students to discuss on the proper description
of the terms Landlord, Tenant (lessee), Sub tenant, Actual Royalties,
Minimum Rent, Short Workings, Short Workings Recouped,
Irrecoupable Short Workings and Royalties Payable to Landlord through
information search from library.

(e) Teachers should demonstrate to students how to prepare the relevant
accounts in the books of landlord such as Royalty Receivable, Tenant,
and Short Workings Accounts and the relevant accounts in the books of
tenant such as Royalties Payable, Landlord, Sub Tenant, Royalties
Receivable and Short Workings Accounts using different charts of
accounts.
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(f) Teachers should guide the students through group discussions to arrive

at the proper description of the term Accounting Cycle and the relevant
chronological steps in the Accounting Cycle.

(g) Teachers should give adequate number of exercises, assignments and

internal examinations and tests prepared in accordance with the National
Examinations Format to their students and provide them with feedback
so as to build their confidence and enhance their knowledge, skills and
attitudes in answering examinations questions.

(h) Students should develop a habit of reading literature such as novels,

(i)

journals and magazines to improve their mastery of English language
which is the medium of instructions. They should also develop a habit of
reading extensively and doing a lot of practice on various topics of the
subject to improve their knowledge, comprehension, application,
analysis, synthesis, evaluation and computational skills and
competences.

Students should be very careful while reading the examination papers so
as to identify the requirements of the questions.
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Appendix A

Performance of Candidates in Each Question

Percentage of

Nug}ber the candidates
sn Topic Questio who scored an | Remarks
ns average of 35 %

or above
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Appendix B

Performance per topic for ACSEE across the years 2016 and 2017

2016 2017
Y Y
- g -E |82Bogbe| € |25 |E2Eegse ¢
@ S o3 | 85T2588 g o7 |85T2588 £
E% Ew%mom% <) E% Em%mom% [}
20’ n_commm I éoo_mommm o
1 | Depreciation and
Disposal of Non-current
Assets and Recognition
of Revenue and Expenses
2 | Containers Accounts
3 | Company Accounts and
Payroll Accounting
4 | Stock Valuation
5 | Investment Accounts
6 | Hire Purchase Accounts
7 | Preparation of Financial
Statements
8 | Correction of Errors and
Branch Accounts
9 | Partnership Account
10 | Branch Accounts
11 | Financial Statements -
Analysis and Average
Interpretation
12 | Nature and Context of Average
Accounting
13 | Accounting for Royalties
14 | Reserves and Provisions
and Recognition of
Revenue and Expenses
15 | Depreciation and
Disposal of Non-Current
Assets and Financial
Statements Analysis and
Interpretation
16 | Company Accounts Average
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